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ASSISTANT PROFESSOR OF PSYCHOLOGY - CUM- CLINICAL PSYCHOLOGIST IN 
TAMIL NADU MEDICAL SERVICE - 24-03-2023 

 
 

1. The system of classification proposed by Carolus Linnaeus is 
a. Natural system     b. Phylogenetic system 
c. Modern system     d. Artificial system 

e. Answer not known 
fNuhy]; ypd;Nda]; Kd;nkhope;j tifg;ghl;L Kiw vJ? 
a. ,aw;if Kiw      b. ,dg;ghpzhk topKiw  
c. mz;ikf;fhy Kiw     d. nraw;if Kiw 
e. tpil njhpatpy;iy 
 

2. Identify the incorrect statement with reference to Prokaryotic cell. 
a. Lack of membrane bound genetic material 
b. Presence of 70S Ribosomes 
c. Presence of Mesosomes 
d. Presence of membrane bound organelles like chloroplast and mitochondria 
e. Answer not known 
g;NuhNfhpahl;bf; nry; Fwpj;J jtwhd $w;wpid fz;Lgpbf;fTk;. 
a. rt;tpdhy; #og;gl;l kugZg; nghUs; fpilahJ. 
b. 70S tif iuNghNrhk;fs; fhzg;gLfpwJ. 
c. kPNrhNrhk;fs; fhzg;gLfpwJ. 
d. rt;tpdhy; #og;gl;l nry; cWg;Gfshd gRq;fzpfk; kw;Wk; ikl;Nlhfhz;bhpa 
fhzg;gLfpwJ. 
e. tpil njhpatpy;iy 

 
3. Choose the one which is not a Heptahydrate. 

(i) Green vitriol 
(ii) White vitriol 
(iii) Blue vitriol 
(iv) Red vitriol 
a. (i) and (ii) only   b. (iii) only   c. (iv) only 
d. (iii) and (iv) only   e. Answer not known 
fPo;f;fhz;gdtw;wpy; vJ n`g;lh i`bNul; my;y? 
(i) gr;ir tpl;bhpahy; 
(ii) nts;is tpl;bhpahy; 
(iii) ePy tpl;bhpahy; 
(iv) rptg;G tpl;bhpahy; 
a. (i) kw;Wk; (ii) kl;Lk;  b. (iii) kw;Wk;   c. (iv) kl;Lk; 
d. (iii) kw;Wk;  (iv) kl;Lk;  e. tpil njhpatpy;iy   



 

2 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

 
4. The insecticides that act as a nerve poison is 

a. Endrin   b. Ethylene dichloride  c. Malathion 
d. Lead Arsenite  e. Answer not known 
euk;G eQ;rhfr; nray;gLk; G+r;rp nfhy;yp ____ MFk;. 
a. vz;l;hpd;    b. vj;jpyPd; il FNshiuL  c. khyjpahd; 
d. <a Mh;rpidl;   e. tpil njhpatpy;iy 

 
5. Arrange the hormones in order during the female reproductive cycle. 

(1) Luteinizing hormone 
(2) Progesterone 
(3) Prolactin 
(4) Follicle stimulating hormone 
a. 2, 4, 1, 3   b. 4, 1, 2, 3   c. 3, 4, 1, 2   
d. 1, 4, 2, 3   e. Answer not known 
ngz; ,dg;ngUf;f Row;rpapd; thpirapy; `hh;Nkhd;fis thpirg;gLj;jTk;. 
(1) Ybidrpq; `hh;Nkhd; 
(2) GNuhn[];l;bNuhd; 
(3) g;Nuhyhf;bd; 
(4) fUKl;il J}z;Lk; `hh;Nkhd; 
a. 2, 4, 1, 3   b. 4, 1, 2, 3   c. 3, 4, 1, 2   
d. 1, 4, 2, 3   e. tpil njhpatpy;iy 
  

6. In the body wall of ascaris, the correct sequence of layers from outside towards inner 
side is  

a. Cuticle, epidermis, longitudinal muscles 
b. Cuticle, epidermis, longitudinal and circular muscles 
c. Epidermis, longitudinal and circular muscles, cuticle 
d. Epidermis, cuticle, longitudinal muscles 
e. Answer not known 

cUisg;GO cly; Rthpy;> ntspapy; ,Ue;J cs; gf;fkhf cs;s mLf;Ffspd; rhpahd 
thpir. 
a. f;A+l;bfy;> Nky;Njhy;> ePskhd jirfs; 
b. f;A+l;bfy;> Nky;Njhy;> ePskhd jirfs; kw;Wk; tl;l jirfs; 
c. Nky;Njhy;> ePskhd kw;Wk; tl;l jirfs;> f;A+l;bfy; 
d. Nky;Njhy;> f;A+l;bfy;> ePskhd jirfs; 
e. tpil njhpatpy;iy 
 

7. Which of the following statement will fit for Lamprey? 
(i) Lives in sea and migrates to the rivers of spawning. 
(ii) Endoparasites 
(iii) Jawless animal 
a. (i) and (ii) only   b. (ii) only   c. (i) and (iii) only 
d. (iii) only    e. Answer not known 
fPo;f;fz;ltw;Ws; ve;jf; $w;W yhk;g;Nuf;F nghUj;jkhf mikAk;? 
(i) flypy; tho;fpwJ kw;Wk; Kl;ilapLtjw;fhf ejpf;F tyir nry;fpwJ 
(ii) mf xl;Lz;zpfs; 
(iii) jhilaw;w tpyq;F 
a. (i) kw;Wk;  (ii) kl;Lk;  b. (ii) kl;Lk;   c. (i) kw;Wk;  (iii) kl;Lk; 
d. (iii) kl;Lk;    e. tpil njhpatpy;iy 
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8. Match the political parties with their founding years. 
A. Indian National congress  1. 2013 
B. All India Trinamool congress  2. 1925 
C. National people’s party   3. 1885 
D. Communist Party of India (CPI) 4. 1998 
 A B C D 
a. 2 3 4 1 
b. 3 4 1 2 
c. 3 2 1 4 
d. 1 4 3 2 
e. Answer not known 
murpay; fl;rpfis mitfs; cUthf;fg;gl;l tUlq;fSld; nghUj;jTk;. 
A. ,e;jpa Njrpa fhq;fpu];   1. 2013 
B. mfpy ,e;jpah jphpz%y; fhq;fpu]; 2. 1925 
C. Njrpa kf;fs; fl;rp   3. 1885 
D. ,e;jpa fk;A+dp];l; fl;rp (CPI)  4. 1998 
 A B C D 
a. 2 3 4 1 
b. 3 4 1 2 
c. 3 2 1 4 
d. 1 4 3 2 
e. tpil njhpatpy;iy 

 
9. Name the plant developed for an innovative low-volume fixed model for biogas 

production by the Vivekananda Kendra of Tamilnadu. 
a. Shakthi Surabhi   b. Shakthi Tamil Nadu  c. Shakthi India 
d. Waste to energy   e. Answer not known 
jkpof tpNtfhde;jh Nfe;jpuhtpd; Gjpa Kiw caphp thAtpid cw;gj;jp nra;Ak; khjphp 
rhjdkhdJ ______ vd;W miof;fg;gLfpwJ. 
a. rf;jp Rugp    b. rf;jp jkpo;ehL   c. rf;jp ,e;jpah 
d. foptpy; ,Ue;J Mw;wy;  e. tpil njhpatpy;iy 

 
10. Which of the following are incorrectly paired? 

1. Gaganyaan project  -  DFRS 
2. Chandrayaan 2   -   DFRS 
3. Communication satellite  -  GSAT-24 
4. Small satellite launch vehicle -  SSLV-D1/EOS-02 
a. 1 and 2    b. 2 and 4   c. 3 and 4 
d. 2 and 3    e. Answer not known 
fPo;f;fhz;gtw;Ws; vit jtwhf ,ize;Js;sd? 
1. ffd;ahd; jpl;lk;    - DFRS  
2. re;jpuhahd; 2    - CES 
3. jfty; njhlh;G nraw;ifNfhs;  - GSAT-24 
4. rpwpa nraw;ifNfhs; VT thfdk; - SSLV-D1/EOS-02 
a. 1 kw;Wk; 2    b. 2 kw;Wk; 4    c. 3 kw;Wk; 4 
d. 2 kw;Wk; 3    e. tpil njhpatpy;iy  

 
11. Consider the following statements and choose the right option for what under – 

population means 
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Statement 1: A situation where the number of people that can be supported is the same 
as the available resources 
Statement 2: A situation where by the population is considered too large for the 
available resources. 
Statement 3: A situation where the population is less than the available resources of a 
country. 

a. Statement I, II and III are right 
b. Statement I is correct and II and III are incorrect 
c. Statement II is correct and I and III are incorrect 
d. Statement III is correct and I and II are incorrect 
e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdkhff; fUj;jpy; nfhz;L nfhLf;fg;gl;Ls;sdtw;Ws; 
“Fiwe;j kf;fs; njhif” Fwpj;J rhpahd thf;fpaj;ij Njh;e;njL 
thf;fpak; 1: xU Fwpg;gpl;l ,lj;jpy; fhzg;gLk; tsq;fSk; kf;fs; njhifAk; rhpahd 
tpfpjj;jpy; fhzg;gLtJ 
thf;fpak; 2: xU Fwpg;gpl;l ,lj;jpy;. fhzg;gLk; tsq;fistpl kf;fl;njhif 
kpFjpahf fhzg;gLtJ 
thf;fpak; 3: xU Fwpg;gpl;l ,lj;jpy; fhzg;gLk; tsq;fistpl kf;fl;njhif Fiwe;J 
fhzg;gLjy; 
a. thf;fpaq;fs; I, II kw;Wk; III rhp 
b. thf;fpak; I rhp II kw;Wk; III jtW 
c. thf;fpak; II rhp I kw;Wk; III jtW 
d. thf;fpak; III rhp I kw;Wk; II jtW 
e. tpil njhpatpy;iy 
 

12. Which one of the following Indian states is the leading producer of silver? 
a. Andhra Pradesh  b. Tamil Nadu   c. Kerala 
d. Bihar   e. Answer not known 
fPo;fz;l ,e;jpa khepyq;fspy; nts;sp cw;gj;jpapy; Kjy; ,lk; gpbf;Fk; khepyk; vJ? 
a. Me;jpug; gpuNjrk;  b. jkpo;ehL    c. Nfush 
d. gP`hh;   e. tpil njhpatpy;iy 

 
13. Vallanadu wildlife sanctuary is located at 

a. Coimbatore   b. Thoothukudi   c. Erode 
d. Ooty    e. Answer not known 
tsehL tdtpyq;F ruzhyak; vq;F mike;Js;sJ? 
a. Nfhak;Gj;J}h;   b. J}j;Jf;Fb    c. <NuhL 
d. Cl;b    e. tpil njhpatpy;iy 
 

14. Choose the rightly matched pair. 
River    Length in Km 
A. Godaveri   1. 1565 
B. Krishna   2. 1400 
C. Narmada   3. 1310 
D. Mahanadi   4. 1205 
a. A and C are correct  b. A and B are correct c. B and C are correct  

d. C and D are correct  e. Answer not known 
fPNo nfhLf;fg;gl;ls;stw;Ws; rhpahd nghUj;jq;fisj; Njh;T nra;f. 
ejpfs;    ePsk; (fpkP) 
A. Nfhjhthp   1. 1565 
B. fpU~;zh   2. 1400 
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C. eh;kij   3. 1310 
D. kfhejp   4. 1205 
a. A kw;Wk; C rhp  b. A kw;Wk;  B rhp  c. B kw;Wk; C rhp  
d. C kw;Wk; D rhp  e. tpil njhpatpy;iy 

 
15. Which among the following separates greater and lesser Himalaya? 

a. Karol Basin  b. Main central thrust  c. Dun valley 
d. Kathmandu valley e. Answer not known 
gpd;tUgitfspy; vJ ,kakiyapd; mjpf cauKs;s gFjpfisAk; Fiwe;j 
cauKs;s gFjpfisAk; gphpf;fpwJ? 
a. fNuhy; ePh;tbfhy;   b. kj;jpag; ngUk; ce;jk;  c. ^d; gs;sj;jhf;F 
d. fhl;khz;L gs;sj;jhf;F  e. tpil njhpatpy;iy 

 
16. Which one is the Poineer satellite of India? 

a. Bhaskara    b. Aryabhata   c. PSLV 
d. INSAT    e. Answer not known 
,e;jpahtpd; mwpKf nraw;if Nfhs; vJ? 
a. gh];fuh    b. Mh;agl;lh   c. gp v]; vy; tp 
d. ,d;rhl;    e. tpil njhpatpy;iy 
 

17. Which of the following statements are true about the Harappan People? 
(i) The Harappans were the Phallus Worshippers. 
(ii) They worshipped gods in the form of human beings. 
(iii) They placed their gods in temples. 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only 

d. (ii) and (iii) only  e. Answer not known 
`ug;gd; kf;fisg; gw;wpa gpd;tUk; $w;Wfspy; vJ/vit cz;ik? 
(i) `ug;gd;fs; /ghy];-I topgLgth;fs;. 
(ii) mth;fs; kdpj cUtpy; nja;tq;fis topgl;ldh;. 
(iii) mth;fs; jq;fs; nja;tq;fisf; Nfhtpy;fspy; itj;jhh;fs;.  
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

18. Match List I with List II and select the correct answer: 
List I     List II 
A. Vishakhadatta   1. Nitisastra  
B. Kamandaka   2. Niyaya Bhashya 
C. Asanga    3. Mudraraksha 
D. Vatsyayana   4. Bhumi Sastra 
 A B C D 
a. 4 2 1 3 
b. 3 1 4 2 
c. 3 2 1 4 
d. 1 3 2 4 
e. Answer not known 
gl;bay; II gl;bay; II – cld; nghUj;jp rhpahd tpilia Njh;njLj;J vOJf: 
gl;bay; I    gl;bay; II 
A. tp]hfjj;jh;   1. ePjp rh];jpuk; 
B. fhkhe;jfh;    2. epaha gh~;ak; 
C. m]q;fh;    3. Kj;u uhf;~~k; 
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D. th];j;ahadh;   4. G+kp rh];jpuk; 
 A B C D 
a. 4 2 1 3 
b. 3 1 4 2 
c. 3 2 1 4 
d. 1 3 2 4 
e. tpil njhpatpy;iy 
 

19. Devi Chandra Guptan deals with the life history of 
a. Chandra Gupta I   b. Chandra Gupta II  c. Samudra Gupta 
d. Skanda Gupta   e. Answer not known 
Njtp re;jpu Fg;jk; ahUila tho;f;if tuyhw;iw gw;wp $WfpwJ? 
a. Kjyhk; re;jpu Fg;jh;     b. ,uz;lhk; re;jpu Fg;jh; 

c. rKj;jpu Fg;jh;      d. ];fe;j Fg;jh; 
e. tpil njhpatpy;iy 
 

20. In whose reign did the Sultanate reach its maximum geographical limit? 
a. Ala-Ud-Din Khilji     b. Mubarak Shah Khilji  
c. Muhammed-Bin-Tughlak   d. Ghiyasuddin Tugalak 
e. Answer not known 
ve;j Ry;jhdpah; Ml;rpapy; kpf mjpfkhd epyg;gug;G murhl;rpapd; vy;iyahf ,Ue;jJ? 
a. myhTjpd; fpy;[p     b. Kghuf; ~h fpy;[p 
c. Kfk;kJ-gpd;-Jf;sf;    d. fpahRjpd; Jf;sf; 
e. tpil njhpatpy;iy 
 

21. Choose the wrongly matched pairs. 
(1) Ashtapradhan  - Council of Eight Ministers 
(2) Sardeshmukhi  - Tax on territories 
(3) Chauth   - Custom duty 
(4) Amatya   - Foreign Minister 
a. (1) and (2) are correct  b. (3) and (4) are correct c. (2) and (3) are correct 
d. (1) and (4) are correct  e. Answer not known 
jtwhd nghUj;jq;fisj; Njh;T nra;f. 
(1) m~;l;lgpujhd;  - vl;L mikr;rh; FO 
(2) rh;Nj~;Kfp  - gpuNjr thp 
(3) rTj;   - Rq;fthp 
(4) mkj;jpah   - ntspehl;Lj; Jiw mikr;rh; 
a. (1) kw;Wk; (2) rhp   b. (3) kw;Wk; (4) rhp  c. (2) kw;Wk; (3) rhp 
d. (1) kw;Wk; (4) rhp   e. tpil njhpatpy;iy 
 

22. Name the Mughal ruler who initiated a programme of building sea-going vessels. 
a. Babur   b. Akbar   c. Shahjahan 
d. Aurangazeb  e. Answer not known 
fly; nry;fyd; fl;Lk; jpl;lj;ij Kd;ndLj;j Kfyha kd;dh; ngah; 
a. ghgh;   b. mf;gh;   c. ~h[`hd; 
c. xsuq;frPg;   e. tpil njhpatpy;iy 
 

23. The principle construction material used by Shahjahan to built Jumma Masjit at Delhi 
a. Yellow Sand Stone  b. Red Sand Stone  c. Black Sand Stone 
d. Metal    e. Answer not known 
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~h[`hd; nly;ypapy; [_k;kh k#jpapid fl;lg; gad;gLj;jpa mbg;gil fl;Lkhdg; 
nghUs; vJ? 
a. kQ;rs; kzw;fy;   b. rptg;G kzw;fy;  c. fUg;G kzw;fy; 
d. cNyhfk;    e. tpil njhpatpy;iy 
 

24. Which of the given statements is/are correct? 
(i) Amir Khusroe, Abul Fazal, Ziauddin Barani were famous persian Historians in 

Medieval period. 
(ii) Tughlaq Nama, Akbar Nama, Tarik Firoz Shahi are the books written by them 

respectively. 
a. (i) and (ii) are wrong    b. (i) correct (ii) wrong 
c. Both (i), (ii) are correct    d. (i) wrong (ii) correct 
e. Answer not known 
gpd;tUk; $w;Wfspy; vJ rhpahd $w;W/$w;Wfs; vd;gij vLj;J vOJf? 
(i) mkPh; F];U> mGy; gh]y;> [pahTjPd; guzp MfpNahh;> ,ilf;fhy ghurPf 

tuyhw;W Mrphpah;fs;. 
(ii) Jf;sf; ehkh> mf;gh; ehkh> jhhpf; /gpNuh~hfp Mfpa E}y;fs; ,th;fshy; KiwNa 

vOjg;gl;lit MFk;. 
a. (i) kw;Wk; (ii) jtW    b. (i) rhp (ii) jtW 
c. (i) kw;Wk; (ii) rhp     d. (i) jtW (ii) rhp 
e. tpil njhpatpy;iy 
 

25. Name the rulers who had organized a military department called Kandachara. 
a. Vijayanagar rulers  b. Bahmini Sultans  c. Marathas 
d. Mughals    e. Answer not known 
“fz;lrhuh” vd;wiof;fg;gLk; xOq;fhd uhZtj;Jiwapid nfhz;bUe;j murh;fs; 
a. tp[aefu Ml;rpahsh;fs;  b. ghkpdp Ry;jhd;fs; c. kuhj;jpah;fs; 
d. nkhfyhah;fs;   e. tpil njhpatpy;iy 
 

26. Which one of the following is NOT a qualification to become a President? 
a. He must have completed 35 years of age 
b. He must be qualified to become a member of Rajya Sabha 
c. He must be a citizen of India 
d. He should not hold any office of profit 
e. Answer not known 

fPo;f;fhz;gtw;wpy; vJ FbauRj; jiyth; Mtjw;fhd jFjp fpilahJ? 
a. 35 taJ epiwT nra;jtuhf ,Uf;f Ntz;Lk; 
b. khepyq;fsit cWg;gpdh; Mtjw;fhd jFjpiag; ngw;wpUf;f Ntz;Lk; 
c. ,e;jpaf; Fbkfdhf ,Uf;f Ntz;Lk; 
d. Mjhak; jUk; gjtp VJk; tfpf;ff; $lhJ 
e. tpil njhpatpy;iy 
 

27. What sort of democracy would the Right to Information promote? 
a. Direct democracy     b. Representative democracy 
c. Procedural democracy    d. Participatory democracy 
e. Answer not known 
vt;tifahd kf;fshl;rp Kiwiaj; jfty; mwpAk; chpik tsh;j;njLf;ff; $Lk;? 
a. Neubahd kf;fshl;rp    b. gpujpepjpj;Jt kf;fshl;rp 
c. eilKiwrhh;e;j kf;fshl;rp   d. gq;Nfw;G kf;fshl;rp 
e. tpil njhpatpy;iy 
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28. Which one of the following rights was described by Dr. B.R. Ambedkar as the heart and 

soul of the constitution? 
a. Right to freedom of Religion   b. Right to property 
c. Right to Equality     d. Right to constitutional Remedies 

e. Answer not known 
gpd;tUdtw;Ws; vJ Dr. B.R. mk;Ngj;fhuhy; murpayikg;gpd; ,jak; kw;Wk; Md;kh vd 
tpthpf;fg;gl;lJ? 
a. kjr;Rje;jpuj;jpw;fhd chpik  b. nrhj;Jhpik 
c. rkj;Jtj;jpw;fhd chpik   d. murpayikg;Gj; jPh;TfSf;fhd chpik 
e. tpil njhpatpy;iy 
 

29. The Verma committee on Fundamental Duties of citizens submitted its report in the 
year 
a. 1997   b. 1998   c. 1999 

d. 2000   e. Answer not known 
Fbkf;fspd; mbg;gilf; flikfs; njhlh;ghd th;kh FOtpd; mwpf;if xg;gilf;fg;gl;l 
Mz;L  
a. 1997   b. 1998   c. 1999 

d. 2000   e. tpil njhpatpy;iy 
 

30. The states Reorganisation commission was appointed in the year 
a. 1953   b. 1960    c. 1950 
d. 1952   e. Answer not known 
khepyq;fspd; kW rPh; mikg;G Mizak; mikf;fg;gl;l Mz;L 
a. 1953   b. 1960    c. 1950 
d. 1952   e. tpil njhpatpy;iy 
 

31. Which of the following statements about Right to Information is correct? 
a. All public Authorities covered under RTI must appoint their Public Information 

officer. 
b. The RTI was adopted by the Indian Parliament in 2004. 
c. The PIO has to reply the request within 35 days. 
d. The nominal fees for filing a request is Rs. 25. 
e. Answer not known 

jfty; ngWk; chpik rl;lj;ijg; gw;wp gpd;tUtdtw;Ws; vJ rhpahdJ? 
a. jfty; mwpAk; chpik rl;lj;jpd; fPo; cs;s midj;J muR mjpfhhpfSk;> nghJ 
jfty; mYtyiu epakpf;f Ntz;Lk;. 
b. jfty; mwpAk; chpik rl;lk; ,e;jpa ghuhSkd;wj;jpy; 2004 ,y; ,aw;wg;gl;lJ. 
c. nghJ jfty; mYtyh; Nfhhpf;iffSf;fhd gjpiy 35 ehl;fSf;Fs; juNtz;Lk;. 
d. Nfhhpf;iffis jhf;fy; nra;a Fiwe;j gl;rf; fl;lzk; &. 25 MFk;. 
e. tpil njhpatpy;iy 
 

32. The number of members of the Rajya Sabha, nominated by president of India are 
a. 2  b. 10  c. 12  d. 15  e. Answer not known 
,e;jpa FbauRj;jiytuhy; uh[;arigapy; epakpf;fg;gLk; cWg;gpdh;fspd; vz;zpf;if 
___ MFk;. 
a. 2  b. 10  c. 12  d. 15  e. tpil njhpatpy;iy 
 

33. Consider the following statements 
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(i) Functions of State Human Rights Commission are mainly recommendatory in 
Nature. 

(ii) The recommendation of State Human Rights Commission are binding on the 
State Government 

Which of the state given above is/are correct? 
a. (i) only    b. (ii) only   c. Both (i) and (ii) 
d. None    e. Answer not known 
fPo;fz;l $w;Wf;fis Muha;f. 
(i) khepy kdpj chpik fofj;jpd; nray;ghLfs; mbg;gilapy; MNyhrid 

mikg;ghf nray;gLfpwJ. 
(ii) khepy kdpj chpik fofj;jpd; MNyhridahdJ khepy murhq;fj;Jld; 

gpize;jpUf;ff; $baJ. 
Nkw;fz;l $w;Wfspy; vJ/vit rhpahdit? 
a. (i) rhp    b. (ii) rhp   c. (i) kw;Wk; (ii) rhp 
d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

34. The Relationship between gross domestic product and unemployment is represented 
by 
a. Gini coefficient   b. Okun’s Law  c. Lorenz curve 
d. Phillips Curve   e. Answer not known 
nkhj;j cs;ehl;L cw;gj;jp kw;Wk; Ntiyapd;ikf;F ,ilNa cs;s njhlh;ig 
vLj;Jf;fhl;LtJ 
a. fpdp nfO    b. xFd;]; tpjp  c. yhud;]; tisNfhL 
d. gpypg;]; tisNfhL  e. tpil njhpatpy;iy 
 

35. The principles of income tax of the Govt. of India based on 
(i) Ability to pay 
(ii) Taxable capacity 
(iii) Canon of equality 
Select the correct answer by using the codes given below: 
a. (i) and (ii) are correct  b. (ii) and (iii) are correct c. (i) only is correct 

d. (iii) alone is correct  e. Answer not known 
,e;jpa murpd; tUkhd thp nfhs;ifahdJ ,jd; mbg;gilapy; mike;Js;sJ. 
(i) nrYj;Jk; jpwd; 
(ii) thp jhq;Fk; jpwd; 
(iii) rkj;Jt tpjp 
FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; njhpT nra;f. 
a. (i) kw;Wk; (ii) rhpahdit    b. (ii) kw;Wk; (iii) rhpahdit 
c. (i) kw;Wk; rhpahdJ    d. (iii) kw;Wk; rhpahdJ 
e. tpil njhpatpy;iy 
 

36. In India GST came into effect from 
a. 1 July 2014    b. 1 July 2016   c. 1 July 2017 
d. 1 July 2015    e. Answer not known 
,e;jpahtpy; [pv];b ______ Kjy; eilKiwf;F te;jJ. 
a. 1 [_iy 2014   b. 1 [_iy 2016  c. 1 [_iy 2017 
d. 1 [_iy 2015   e. tpil njhpatpy;iy 

 
37. According to the 2011 census National Average Literacy Rate in India was 

a. 74.04%    b. 74.02%   c. 74.08% 
d. 74.10%    e. Answer not known 
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2011 kf;fl; njhif fzf;nfLg;gpd;gb ,e;jpahtpy; Njrpa ruhrhp vOj;jwpT tpfpjk;. 
a. 74.04 rjtPjk;   b. 74.02 rjtPjk;  c. 74.08 rjtPjk; 
d. 74.10 rjtPjk;   e. tpil njhpatpy;iy 
 

38. The apex bank of rural credit is 
a. NABARD    b. RBI    c. IDBI 
d. RRB    e. Answer not known 
fpuhkg;Gwf; flDf;fhd cr;r tq;fp 
a. eghh;L   b. Mh;gpI   c. IbgpI 
d. Mh;Mh;gp   e. tpil njhpatpy;iy 
 

39. What was the need for land reforms in India? 
(i) Agricultural holding was get divided 
(ii) The sown area of land per person are increasing 
(iii) Productivity decreased 
a. (i) is true but (ii) and (iii) are false  b. (i) and (iii) are true but (ii) is false 

c. (i) is false but (ii) and (iii) are true  d. All are true 
e. Answer not known 
,e;jpahtpy; epy rPh;jpUj;jq;fSf;fhd mtrpak; vd;d? 
(i) tptrha epyk; gphpf;fg;gl;lJ 
(ii) xU egUf;fhd tpijf;fg;gl;l epyj;jpd; gug;gsT mjpfhpj;J tUfpwJ. 
(iii) cw;gj;jp jpwd; Fiwe;J tUfpwJ 
a. (i) kl;Lk; rhp; Mdhy; (ii) kw;Wk; (iii) jtwhdit 
b. (i) kw;Wk; (iii) rhp; Mdhy; (ii) kl;Lk; jtwhdJ 
c. (i) kl;Lk; jtwhdJ; Mdhy; (ii) kw;Wk; (iii) rhp 
d. midj;Jk; rhp 
e. tpil njhpatpy;iy 
 

40. A scheme having Cultivable Command Area (CCA) of more than 10,000 hectares of 
irrigated area is known as  
a. Major Irrigation Schemes   b. Medium Irrigation Schemes 
c. Minor Irrigation Schemes   d. Tiny Irrigation Schemes 
e. Answer not known 
10>000 n`f;NlUf;F mjpfkhd tpis epyq;fSf;F (CCA) ghrd trjp toq;Fk; 
jpl;lj;jpid _____ vdyhk;. 
a. nghpa ePh;g;ghrdj; jpl;lk;   b. eLj;ju ePh;g;ghrdj; jpl;lk; 
c. rpwpa ePh;g;ghrdj; jpl;lk;   d. FW ePh;g;ghrdj; jpl;lk; 
e. tpil njhpatpy;iy 
 

41. Assertion [A]: “Vande Mataram” was adopted as the slogan for an agitation. 
Reason [R]:  It was adopted during the Swadeshi Movement in protest against 
    partition of Bengal. 

a. [A] is true but [R] is false 
b. Both [A] and [R] are true, and [R] is the correct explanation of [A] 
c. [A] is false, [R] is true 
d. Both [A], [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 

$w;W [A]:  “te;Nj khjuk;” vd;gJ Nghuhl;lj;jpw;fhd Kof;fkhf 
    Vw;Wf;nfhs;sg;gl;lJ 
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tpsf;fk; [R]:  tq;fhsg; gphptpidf;F vjpuhd RNjrp ,af;fj;jpd; NghJ 
    Vw;Wf;nfhs;sg;gl;lJ. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp> vd;gJ [A]-tpd; rhpahd tpsf;fkhFk; 
c. [A] jtwhdJ> [R] rhpahdJ 
d. [A] kw;Wk; [R] rhpahdJ Mdhy; [R], [A]-tpd; rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
42. Name the earliest and the best known mutinies before the ‘Revolt of 1857’ 

a. The Native Infantry Mutiny (1824) 
b. Indian Soldiers Mutiny at Vellore (1806) 
c. Sholapur Mutiny (1838) 
d. Assam Soldiers Mutiny (1824) 
e. Answer not known 
1857 Mk; Mz;L fpsh;r;rpf;F Ke;ija kw;Wk; kpfTk; gpugykhd fyfq;fspy; ,JTk; 
xd;W? 
a. G+h;tPf fhyhl;gil fyfk; (1824) b. NtY}h; ,e;jpa rpg;gha;fs; fyfk; (1806) 
c. N~hyhg;G+h; fyfk; (1838)  d. mrhk; rpg;gha; fyfk; (1824) 
e. tpil njhpatpy;iy 
 

43. Which of the following statement(s) is/are true? 
(i) Mahakavi Bharathiar was a pioneer of modern Tamil poetry and is considered 

one of the greatest tamil literacy figures of all time 
(ii) Bharathiar was the forerunner of a forceful kind of drama that combined 

classical and contemporary elements. 
a. (i) only    b. (ii) only   c. Both (i) and (ii) 
d. None of the above  e. Answer not known 
gpd;tUk; thf;fpak; (thf;fpaq;fspy;) vit rhpahdit? 
(i) kfhftp ghujpahh; etPd jkpo;f; ftpijapd; Kd;Ndhb kw;Wk; vy;yh fhyj;jpYk; 

rpwe;j jkpo; ,yf;fpathjpfspy; xUtuhff; fUjg;gLfpwhh;. 
(ii) ghuk;ghpa kw;Wk; rkfhy $Wfis ,izj;j xU typikahd ehlfj;jpd; 

Kd;Ndhb ghujpahh; Mthh;. 
a. (i) kl;Lk;    b. (ii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. Nkw;fz;l vitAkpy;iy  e. tpil njhpatpy;iy 
 

44. At which Railway station in South Africa Gandhiji was evicted from a train? 
a. Pietermaritzburg   b. Johannesburg  c. Kroonstad 
d. Hatfield    e. Answer not known 
njd;dhg;gphpf;fhtpy; ve;j ,uapy; epiyaj;jpy; fhe;jp ,uapypy; ,Ue;J 
ntspNaw;wg;gl;lhh;? 
a. gPl;lh;khpl;];gh;f;   b. N[hfd;d];gh;f;  c. F&d;];lhl; 
d. `hl;/gPy;;l;   e. tpil njhpatpy;iy 
 

45. The earliest copper plate inscriptions of Cholas discovered in Tamil Nadu are 
A. Thiruvalangadu Copper Plates   
B. Velvikkudi Copper Plates 
C. Velur Palayam Plates    
D. Chinnamanur Copper Plates 
a. A only  b. B and D only  c. A and C only 
d. C and D only e. Answer not known 
jkpo;ehl;by; fz;Lgpbf;fg;gl;l Nrhoh;fspd; Muk;gfhy nrg;Gj;jfL fy;ntl;Lfs; 
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A. jpUthyq;fhL nrg;Gg; gl;lak;   
B. Nts;tpf;Fb nrg;Gg; gl;lak; 
C. NtY}h; ghisak; gl;lak;   
D. rpd;dkD}h; nrg;Gg; gl;lak; 
a. A kl;Lk;     b. B kw;Wk; C kl;Lk; c. A kw;Wk; C kl;Lk; 
d. C kw;Wk; D kl;Lk;  e. tpil njhpatpy;iy 
 

46. Which of the following statements are true about Kamaraj? 
(i) The political guru of Kamaraj was Satyamurti 
(ii) In 1937, he was elected to the legislature from Salem 
(iii) Kundah River project came into existence due to his effort 
a. (i) only   b. (i) and (ii) only  c. (i) and (iii) only 
d. (ii) and (iii) only  e. Answer not known 
fhkuh[iug; gw;wpa gpd;tUk; $w;Wfspy; vJ rhpahdit? 
(i) fhkuh[hpd; murpay; FU rj;jpa%h;j;jp Mthh;. 
(ii) 1937 ,y; Nryj;jpypUe;J rl;lkd;wj;jpw;Fj; Nju;e;njLf;fg;gl;lhh; 
(iii) Fe;jh MW jpl;lk; ,th; Kaw;rpahy; cUthf;fg;gl;lJ. 
a. (i) kl;Lk;    b. (i) kw;Wk; (ii) kl;Lk; c. (i) kw;Wk; (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

47. Who laid the foundation of Khadhi movement in Rajapalayam? 
a. I.P. Arangasamy Raja    b.  Rettaimalai Srinivasan 
c. T.M. Nair      d. P. Varadarajulu 
e. Answer not known 
,uh[ghisaj;jpy; fhjp ,af;fj;jpw;F mbj;jsk; mikj;jth; ,th; 
a. I.gp. muq;frhkp uh[h    b. ,ul;ilkiy rPdpthrd; 
c. b.vk; ehah;      d. gp. tujuh[pY 
e. tpil njhpatpy;iy 
 

48. As per the context mentioned in Kalingathupparani, the word ‘Yoga’ means 
a. Doing exercise  b. Reciting mantras  c. worshipping 
d. Concentration  e. Answer not known 
fypq;fj;Jg; guzpapy; Fwpg;gplg;gl;Ls;s ‘Nahfh’ vd;w nrhy;ypd; nghUs; tpsf;fk; 
a. clw; gapw;rp nra;jy;  b. ke;juq;ffs; XJjy; c. topgLjy; 
d. kdij xUKfg;gLj;Jjy; e. tpil njhpatpy;iy 
 

49. Read the following passage and answer the item that follows. 
Populations that occupy separate geographical areas. Because of their geographical 
separation, they can not interbreed, but would be expected to do so if the geographic 
barrier between them were removed. The separated populations evolve independently 
and adapt to their respective environments, generating reproductive barriers between 
them as a result of their separate evolutionary paths. 
This passage is insisting. 
a. Allopatric speciation    b. Peripatric speciation 
c. Sympatric speciation    d. Parapatric speciation 
e. Answer not known 
gpd;tUk; gj;jpia gbj;J> mjw;fhd Nfs;tpf;F gjpyspf;fTk;. 
caphpdq;fs; jdpj;jdp Gtpapay; gFjpfis Mf;fpukpj;Js;sd. mtw;wpd; Gtpapay; 
gphptpd; fhuzkhf mit ,df;fyg;G nra;a KbahJ> Mdhy; mtw;Wf;fpilNaahd 
Gtpapay; jil ePf;fg;gl;lhy; mt;thW elf;Fnkd;W vjph;ghh;f;fg;gLk;. gphpf;fg;gl;l 
caphpdq;fs; RahjPdkhf cUthfpwJ kw;Wk; me;je;j #oYf;F Vw;wJ> jdpj;jdpahd 
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ghpzhkg; ghijfspd; tpisthf mtw;Wf;fpilNa ,dg;ngUf;fj; jilfis 
cUthf;FfpwJ. 
,e;jg; gj;jp vij typAWj;JfpwJ. 
a. Ntw;wpl caphpdj; Njhw;wk;   b. Fw;wpdj; Njhw;wk; 
c. Xhpl caphpdj; Njhw;wk;    d. ,iz thoplr; rpwg;gpidj; Njhw;wk; 
e. tpil njhpatpy;iy 
 

50. Which of the following statements are mentioned in National sports policy of 2001? 
(i) Upgradation and development of infrastructure 
(ii) Incentives to promote sports 
(iii) Enhance participation of women, scheduled Tribes and rural youths 
(iv) Creating more sports universities 
a. (i) and (ii) only   b. (i), (ii) and (iv) only  c. (i) and (iv) only 
d. (i), (ii) and (iii) only  e. Answer not known 
gpd;tUtdtw;Ws; vit 2001-Mk; Mz;L Njrpa tpisahl;L nfhs;ifapy; ,lk;ngw;w 
$w;Wfs;? 
(i) cs;fl;likg;ig Kd;Ndw;Wjy; kw;Wk; Nkk;gLj;Jjy;. 
(ii) Cf;fj;njhiffs; %yk; tpisahl;Lfis Kd;Ndw;WtJ. 
(iii) ngz;fs;> goq;Fbapdh; kw;Wk; fpuhkg;Gw ,isQh;fspd; gq;Nfw;gpid 

Nkk;gLj;Jjy;. 
(iv) mjpf mstpy; tpisahl;Lg; gy;fiyf;fofq;fis cUthf;Fjy;. 
a. (i) kw;Wk; (ii) kl;Lk;  b. (i), (ii) kw;Wk; (iv) kl;Lk; c. (i) kw;Wk; (iv) kl;Lk; 
d. (i), (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 

 
51. Identify the wrongly matched pair 

1. Bodoland people’s front - Jharkhand 
2. Hill state people’s democratic party – Assam 
3. Lok Jansakthi party – Bihar 
4. Rashtriya Loktantrik party – Rajasthan 
a. 1 and 3    b. 2 and 4   c. 1 and 2 

d. 3 and 4    e. Answer not known 
jtwhf nghUe;jg;gl;l ,izia milahsk; fhz;f. 
1. NghNlhyhe;j; kf;fs; ,af;fk; - [hh;fz;l; 
2. kiy khepy kf;fs; [dehaff; fl;rp – m];]hk; 
3. Nyhf; [drf;jp fl;rp – gPfhh; 
4. uh~;hpa Nyhf;je;j;hpf; fl;rp – uh[];jhd; 
a. 1 kw;Wk; 3    b. 2 kw;Wk; 4   c. 1 kw;Wk; 2 

d. 3 kw;Wk; 4    e. tpil njhpatpy;iy  
 

52. Insulin was discovered by 
a. Alex and Nicholas  b. Mayer and Wilson  c. Banting and Best 

d. Robert and Jacob   e. Answer not known 
,d;Rypid Kjd; Kjyhf fz;lwpe;jth;fs; 
a. mnyf;]; kw;Wk; epNfhy];   b. Nkah; kw;Wk; tpy;rd;  
c. Ngz;bq; kw;Wk; ng];l;    d. uhgh;l; kw;Wk; N[f;fg; 
e. tpil njhpatpy;iy 

 
53. Choose the right matches among the following 

1. Hindu Widow’s Remarriage Act - 1856 
2. Bengal Sati Regulation   - 1829 
3. Madras Non-Brahmin Association - 1919 



 

14 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

4. Hindu Religious Endowment Act - 1821 
a. 1 and 3 are correct  b. 1 and 2 are correct c. 2 and 3 are correct 
d. 3 and 4 are correct  e. Answer not known 
fPNo nfhLf;fg;gl;ltw;Ws; rhpahd nghUj;jq;fisj; Njh;T nra;f 
1. ,e;J tpjit kWjpUkzr; rl;lk; - 1856 
2. tq;f rjp xOq;FKiw   - 1829 
3. nkl;uh]; gpuhkzh; my;yhNjhh; rq;fk; - 1919 
4. ,e;J rka mwepiyar; rl;lk;  - 1821 
a. 1 kw;Wk; 3 kl;Lk; rhp  b. 1 kw;Wk; 2 kl;Lk; rhp c. 2 kw;Wk; 3 kl;Lk; rhp 
d. 3 kw;Wk; 4 kl;Lk; rhp  e. tpil njhpatpy;iy 
 

54. Name the female speaker at the Congress Radio who possessed a startlingly rich voice 
and sharp expression. 
a. Kokila Ben  b. Kamala Ben  c. Usha Mehta 
d. Anita Ben  e. Answer not known 
fhq;fpu]; fl;rpapd; thndhypapy; gzpahw;wpa jpLf;fpLk; nra;jpia thrpg;gjpy; 
Njh;r;rpg;ngw;w kw;Wk; Neh;j;jpahd thh;j;ij cr;rhpg;ig nfhz;l ngz;kzp 
a. Nfhfpyh ngd;  b. fkyh ngd;  c. c~h Nkj;jh 
d. mdpjh ngd;  e. tpil njhpatpy;iy 
 

55. Which Azhwaar sang devotional songs in the guise of folk songs? 
a. Aandaal   b. Thiruppan azhawaar  c. Thirumazhisai azhwaar 
d. Thirumangai azhwaar e. Answer not known 
ehl;Lg; ghly; rhaypy; gf;jpg; ghly;fs; ghba Mo;thh; ahh;? 
a. Mz;lhs;    b. jpUg;ghzho;thh;  c. jpUkopiraho;thh; 
d. jpUkq;ifaho;thh; e. tpil njhpatpy;iy 

 
56. Pickout the correct pair from the pairs given 

a. City Lights    - Epic movies   
b. The Great Dictator – comedy Actor 
c. Charlie Chaplin   – Award winning movie 
d. Modern Times   – Research movie 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;wpy; rhpahd ,iziaj; Njh;T nra;f 
a. rpl;b iyl;];  - fhtpag;glk;   
b. jp fpNul; bf;Nll;lh; - Nfypr; rpj;jpu ebfh; 
c. rhh;yp rhg;spd;  - rhjidg; glk; 
d. khlh;d; ilk;];  - Muha;r;rp glk; 
e. tpil njhpatpy;iy 
 

57. Who wrote the book “Manumurai Kanda Vasakam”? 
a. U.Ve. Saminathar  b. Ramalinga Adigal c. Dhamodar 
d. Vaikunda Swamigal e. Answer not known 
“kDKiw fz;l thrfk;” vd;w E}iy vOjpath; ahh;? 
a. c.Nt. rhkpehjh;  b. ,uhkypq;f mbfs; c. jhNkhjuh; 
d. itFz;l rhkpfs; e. tpil njhpatpy;iy 
 

58. Who was the first and the only Governor-General from Madras Presidency in the 
Dominion of India? 
a. C. Rajagopalachariar  b. R.K. Shanmugam Chetti 
c. M. Bhakthavatchalam  d. Lord Mountbatten 
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e. Answer not known 
Mjpf;f ,e;jpahtpd; Kjy; kw;Wk; nrd;id khfhzj;ijr; Nrh;e;j xNu fth;dh; n[duy; 
ahh;? 
a. rp. ,uhrNfhghyhr;rhhpahh; b. Mh;.Nf. rz;Kfk; nrl;b 
c. vk;. gf;jtj;ryk;   d. yhh;l; kTz;l; Ngl;ld; 
e. tpil njhpatpy;iy 
 

59. Ilangovadigal, who wrote silappathikaram was a  
a. Buddhist monk  b. Jain monk   c. Hindu saint 
d. Christian   e. Answer not known 
rpyg;gjpfhuj;ij ,aw;wpa ,sq;Nfhtbfs; xU  
a. Gj;j Jwtp   b. rkzj; Jwtp  c. ,e;J Jwtp 
d. fpU];Jth;   e. tpil njhpatpy;iy 
 

60. Match the following  from List I with List II and Choose the correct option. 
      List I       List II 
A. Kurinji   1. Indra 
B. Mullai   2. Murugan 
C. Marudam   3. Thirumal 
D. Neydal   4. Varuna  

A B C D 
a. 2 3 1 4 
b.  3 2 1 4 
c. 2 1 3 4 
d. 3 1 2 4 
e. Answer not known 
thpir Iy; cs;sij IIk; thpirAld; nghUe;jp rhpahd tpiliaj; Njh;e;njLf;fTk;. 
thpir I  thpir II 
A. FwpQ;rp  1. ,e;jpud; 
B. Ky;iy  2. KUfs; 

C. kUjk;  3. jpUkhy; 
D. nea;jy;  4. tUzd; 

A B C D 
a. 2 3 1 4 
b.  3 2 1 4 
c. 2 1 3 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

61. Choose the right answer among type which of the following statements are true about 
Justice Party? 
(i) In order to safeguard the interest of non-Brahmins, in August 1917 to organize a 
Party called the South Indian Liberal Federation 
(ii) South Indian Liberal Federation popularly known as Justice Party  
(iii) Justice Party is considered as the start of Dravidian Movement 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only 
d. (i), (ii) and (iii) only e. Answer not known 
ePjpf;fl;rpiag; gw;wpa gpd;tUk; $w;Wfspy; vJ rhpahdJ vd;gij Njh;e;NjLf;fTk;. 
(i) gpuhkzh; my;yhjth;fspd; eyd;fisf; fhf;f Mf];l; 1917 ,y; njd;dpe;jpa 
jhuhsthjf; $l;likg;G vd;w fl;rpia Vw;ghL nra;jhh; 
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(ii) njd;dpe;jpa jhuhthj $l;likg;G ePjpf;fl;rp vd;W mwpag;gLfpwJ 
(iii) ePjpf;fl;rp jpuhtpl ,af;fj;jpw;F xU Kd;Ndhbahf fUjg;gLfpwJ 
a. (i) kl;Lk;    b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (i)> (ii) kw;Wk; (iii) rhp  e. tpil njhpatpy;iy 
 

62. Which Tamil writer is adulated as: “Kaadu Kamazhum, Karpoora Sorko Karpanai 
Ootraam Kadhayin Puthaiyal? 
a. Bharathiyar  b. Bharathidasn  c. Suradha 
d. Vanithasan  e. Answer not known 
“fhL fkOk; fw;G+ur; nrhw;Nfh 
fw;gid Cw;whk; fijapd; Gijay;” vdg; Gfog;gLgth; ahh;? 
a. ghujpahh;   b. ghujpjhrd;   c. Rujh 
d. thzpjhrd;  e. tpil njhpatpy;iy 
 

63. Which was the first collection of modern poetry released in Tamil? 
a. Kakitha Pookkal  b. Puthukkuralgal  c. Kaatrile Mithantha kavithai 
d. Merkuri Pookkal  e. Answer not known 
jkpopy; ntspte;j Kjy; GJf;ftpijj; njhFg;G vJ? 
a. fhfpjg; G+f;fs;  b. GJf;Fuy;fs;  c. fhw;wpNy kpje;j ftpij  
d. nkh;f;Fhpg; G+f;fs ; e. tpil njhpatpy;iy 
  

64. Who wrote; “Evvazhi Nallavar Aadavar 
Avvazhi Nallai; Nilanae!”? 
a. Baranar   b. Kabilar   c. Avvaiyar 
d. Velliveedhiyaar  e. Answer not known 
“vt;top ey;yth; Mlth;> 
mt;top ey;iy; thopa epyNd” 
vd;W ghba Gyth; ahh;? 
a. guzh;   b. fgpyh;    c. xsitahh; 
d. nts;sptPjpahh;  e. tpil njhpatpy;iy 
 

65. Among the kadaiyelu Vallal who offered Neelamani and Nagam thantha Kalingam to 
the Sivan? 
a. Kaari   b. Oori   c. Aai Andiran 
d. Nalli   e. Answer not known 
filNaO ts;sy;fspy; ePykzpiaAk;> ehfk; je;j fypq;fj;ijAk; rptDf;F  
mspj;jth; ahh;? 
a. fhhp    b. Xhp    c. Ma; mz;bud; 
d. ey;yp   e. tpil njhpatpy;iy 
 

66. Which of the following is NOT a priority for Social Welfare Schemes of the 
government? 
a. Protection of Women  b. Protection of the Aged 
c. Protection of Children  d. Protection of Environment 
e. Answer not known 
gpd;tUtdtw;Ws; vJ murpd; r%f eyj; jpl;lq;fspd; Kd;Dhpikapy; ,y;yhjJ? 
a. ngz;fs; ghJfhg;G  b. taJ te;Njhh; ghJfhg;G 
c. Foe;ijfs; ghJfhg;G  d. Rw;Wr;#oy; ghJfhg;G 
e. tpil njhpatpy;iy 
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67. When was the Madras state renamed as Tamil Nadu and who was appointed as the 
Chief Minister of Tamil Nadu? 
a. 1965 Subbarayalu Reddiyar  b. 1967 Kamaraj  c. 1969 Annadurai 
d. 1972 Annadurai    e. Answer not known 
nkl;uh]; khepyk; vg;NghJ jkpo;ehL vd;W ngah; khw;wg;gl;lJ kw;Wk; me;j Kjyikr;rh; 
ahh;? 
a. 1965 Rg;guhaY} nul;bahh;  b. 1967 fhkuh[h;   
c. 1969 mz;zhJiu   d. 1972 mz;zhJiu 
e. tpil njhpatpy;iy 
 

68. According to Census 2011, ________ district of Tamil Nadu has the lowest child sex 
ratio. 
a. Ariyalur  b. Cuddalore   c. Madurai 
d. Theni  e. Answer not known 
2011-Mk; Mz;bd; kf;fs; njhiff; fzf;nfLg;gpd;gb> jkpo;ehl;bd; ve;j khtl;lk; kpff; 
Fiwthd Foe;ijg; ghypd tpfpjj;ijf; nfhz;Ls;sJ? 
a. mhpaY}h;   b. flY}h;   c. kJiu 
d. Njdp   e. tpil njhpatpy;iy 
 

69. Which Indian city is called as “Detroit of Asia”? 
a. Delhi  b. Mumbai   c. Bangalor 
d. Chennai  e. Answer not known 
ve;j ,e;jpa efuk; “Mrpahtpd; nll;uha;L” vd miof;fg;gLfpwJ? 
a. nly;yp  b. Kk;ig   c. ngq;f@h; 
d. nrd;id  e. tpil njhpatpy;iy 
 

70. Which is not the non-commercial energy resource of villages and towns? 
a. Fuel Wood  b. Agricultural Wastes  c. Hydro Energy 
d. Animal Dung e. Answer not known 
fpuhkq;fs; kw;Wk; efuq;fspd; tzpfk; rhuhj Mw;wy; tsk; __________ ,y;iy 
a. ku vhpnghUspy;   b. tptrha fopTfspy; c. ePh; Mw;wypy; 
d. tpyq;F rhzj;jpy; e. tpil njhpatpy;iy   
 

71. Which state has the highest percentage of Urban Population in India as per 2011 
census? 
a. Keral  b. Tamilnadu   c. Gujarat 
d. Maharashtra e. Answer not known 
2011 kf;fl; njhiff; fzf;nfLg;gpd; gb ,e;jpahtpy; mjpf rjtpfpj efh;Gw kf;fs; 
njhifiaf; nfhz;l khepyk; vJ? 
a. Nfush   b. jkpo;ehL   c. F[uhj; 
d. kfhuh~;l;uh  e. tpil njhpatpy;iy 
 

72. Kaya Kalp award is related to which field? 
a. Education  b. Public health care  c. Sports 
d. Yoga  e. Answer not known 
 fha fy;g; tpUJ ve;jj; JiwAld; njhlh;GilaJ? 
a. fy;tp  b. nghJ Rfhjhuk;   c. tpisahl;L 
d. Nahfh  e. tpil njhpatpy;iy 
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73. The concept of _________ concentrates on deprivation in long lively  knowledge and a 
decent living standard of human life. 
a. Gender Inequality Index (GII)  b. Human Poverty Index (HPI) 
c. Gender Development Index  d. Human Resource Index  
e. Answer not known 
________ vd;w fUj;J ePz;l thOk; fhyk;> mwpT kw;Wk; kdpj tho;f;ifapd; 
nfsutkhd tho;f;ifj; juk; Mfpatw;wpy; cs;s ,og;gpy; ftdk; nrYj;JfpwJ. 
a. ghypd rkj;Jtkpd;ik FwpaPL  b. kdpj tWik FwpaPL   
c. ghypd tsh;r;rp FwpaPL    d. kdpj ts FwpaPL   
e. tpil njhpatpy;iy 
 

74. Assertion (A): Tamilnadu is entirely dependent on rain for recharging its water 
   resources. 
Reason (R):  The failure of monsoon lead to acute water scarcity and Severe 
   Drought in Tamil Nadu 
a. (A) is True, (R) is False 
b. Both (A) and (R) are True and R is the correct explanation of (A) 
c. (A) is False, (R) is True 
d. Both (A) and (R) are Ture but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): jkpo;ehl;by; ePh; epiyfs; epuk;g KOikahf kioia rhh;e;Js;sJ 
fhuzk; (R): jkpo;ehl;by; gUt fhy kio nga;ahikahy; jz;zPh; gQ;rk; kw;Wk; 
fLikahd twl;rp epyTfpd;wJ. 
a. (A) rhp Mdhy; (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A)-f;F rhpahd tpsf;fk; 
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)-w;f;F rhpahd tpsf;fk; 
e. tpil njhpatpy;iy  
 

75. In Tamil Nadu, The Digital Accelerator Scheme is aimed __________ 
a. To start Educational Institutions  b. To start new Industries 
c.  To open number of Banks   d. To eradicate crimes 
e. Answer not known 
jkpo;ehl;by;> vz;zpyf;f KLf;fp jpl;lj;jpd; Nehf;fk; 
a. Gjpa fy;tp epWtdq;fis njhlq;FtJ b. Gjpa njhopy;rhiyfis njhlq;FtJ 
c. mjpf tq;fp fpisia jpwg;gJ   d. Fw;wq;fis Nghf;Fjy;   

e. tpil njhpatpy;iy 
 
76. 35 cycles were produced in five days by a company then the number of cycles the can 

be produced in 21 days is _________ 
a. 170  b. 150  c. 147  d. 100  e. Answer not known 
xU kpjptz;b cw;gj;jp nra;Ak; epWtdk; 35 kpjptz;bfis Ie;J ehl;fspy; cw;gj;jp 
nra;fpwJ. vdpy; me;epWtdk; 21 ehl;fspy; cw;gj;jp nra;Ak; kpjptz;bfspd; 
vz;zpf;if 
a. 170  b. 150  c. 147  d. 100  e. tpil njhpatpy;iy 
 

77. At what rate of Simple Interest will Rs 350 amount to Rs 455 in 6 years? 
a. 15%  b. 25%  c. 10%  d. 5%  e. Answer not known 
Rs. 350 vd;w mryhdJ 6 Mz;Lfspy; $Ljy; Rs. 455 Mf fpilf;fg;ngw;why; mjd; 
tl;btPjk; fhz;f. 
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a. 15%  b. 25%  c. 10%  d. 5%  e. tpil njhpatpy;iy 
 

78. Find the wrong number in the series: 3, 8, 15, 24, 34, 48, 63 
a. 15  b. 24  c. 34  d. 48  e. Answer not known 
3, 8, 15, 24, 34, 48, 63 vd;w njhlhpy; jtwhd vz;izf; fhz; 
a. 15  b. 24  c. 34  d. 48  e. tpil njhpatpy;iy 
 

79. Find the next number in the given sequence. 
1, 1, 2, 3, 5, 8, 13, 21, 34, ___ 
a. 50  b. 55  c. 60  d. 65  e. Answer not known 
1, 1, 2, 3, 5, 8, 13, 21, 34, ___ vd;w njhlhpy; mLj;j vz;izf; fhz;f? 
a. 50  b. 55  c. 60  d. 65  e. tpil njhpatpy;iy 
 

80. If 1 + 2 + 3 + … + n = k then 3 3 3 3
1 2 3 ... n+ + + + is equal to 

a. 2
k   b. 3

k   c. 
( 1)

2

k k +
 d. 3

( 1)k +   e. Answer not known 

1 + 2 + 3 + … + n = k vdpy; 3 3 3 3
1 2 3 ... n+ + + +  vd;gj 

a. 2
k   b. 3

k   c. 
( 1)

2

k k +
 d. 3

( 1)k +  e. tpil njhpatpy;iy 

 
81. In the following sequence of instructions 1 stands for run, 2 stands for stop, 3 stands for 

go, 4 stands for sit and 5 stands for wait. If the sequence were continued, which 
instruction will come next? 
4 4 5 4 53 4 5 3 1 4 5 3 1 2 4 5 4 5 3 4 5 3 
a. Wait b. Sit  c. Run  d. Stop e. Answer not known 
gpd;tUk; njhlh;thpir Fwpg;gpd;gb 1 vd;gJ XL> 2 vd;gJ epy;> 3 vd;gJ Ngh> 4 vd;gJ 
cl;fhU> 5 vd;gJ nghW. Njhlh;thpir njhlUk; vdpy; Fwpg;gpd; gb vJ tUk;? 
a. nghW b. cl;fhU c. XL  d. epy;  e. tpil njhpatpy;iy 
 

82. If MACHINE is coded as 19 – 7 – 9 – 14 – 15 – 20 – 11 how will you code DANGER = 
_________? 
a. 11 – 7 – 20 – 16 – 11 – 24   b. 13 – 7 – 20 – 9 – 11 – 25 
c. 10 – 7 – 20 – 13 – 11 – 24    d. 11 – 7 – 20 – 10 – 11 – 25 
e. Answer not known 
If MACHINE vd;gJ vdf; Fwpf;fg;gl;lhy; DANGER vd;gJ vt;thW Fwpf;fg;gLk;? 
a. 11 – 7 – 20 – 16 – 11 – 24   b. 13 – 7 – 20 – 9 – 11 – 25 
c. 10 – 7 – 20 – 13 – 11 – 24    d. 11 – 7 – 20 – 10 – 11 – 25 
e. tpil njhpatpy;iy 
 

83. The product of Kumaran’s age (in years) two years ago and his age four years from 
now is one more than twice his present age. What is his present age?  
a. 6  b. 5  c. 4   d. 3  e. Answer not known 
Fkudpd; jw;Nghija tajpd; ,Uklq;NfhL xd;iwf; $l;bdhy; fpilg;gJ> Fkudpd; 
,uz;lhz;LfSf;F Ke;ija taijAk; mthpd; 4 Mz;LfSf;Fk; gpe;ija taijAk; 
ngUf;ff;; fpilg;gjw;Fr; rkk; vdpy;> mthpd; jw;Nghija taijf; fhz;f. 
a. 6  b. 5  c. 4   d. 3  e. tpil njhpatpy;iy 
 

84. Siva Kumar is 7 times as old as his daughter Preethi. After 5 years he will be 4 times as 
old as his daughter. What are their present ages? 
a. 5, 35 b. 6, 36 c. 7, 42  d. 4, 32 e. Answer not known 
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rptFkhhpd; taJ mtuJ kfs; gpuPj;jpapd; taijg; nghy 7 klq;F MFk;. 5 
Mz;LfSf;Fg; gpd;dh; mth; taJ kfspd; taijg; Nghy 4 klq;F ,Uf;Fk;. 
mth;fspd; jw;Nghija taJ vd;d? 
a. 5, 35 b. 6, 36 c. 7, 42  d. 4, 32 e. tpil njhpatpy;iy 
 

85. 8 farmers can plough a field in 18 days. Find the number of days required for 12 
farmers to plough the same field. 
a. 22 days b. 12 days c. 10 days c. 15 days e. Answer not known 
8 tptrhapfs; 18 ehs;fspy; epyj;ij cOJ Kbf;fpd;wdh; vdpy;> mNj epyj;ij 12 
tptrhapfs; vj;jid ehs;fspy; cOJ Kbg;gh;. 
a. 22 ehl;fs;   b. 12 ehl;fs;  c. 10 ehl;fs; 
d. 15 ehl;fs;   e. tpil njhpatpy;iy 
 

86. 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the 
same work in 8 days. In how many days can 2 men and 1 boy do the work? 

a. 
1

12
2

days  b. 12 days  c. 
1

13
2

 days 

d. 13 days  e. Answer not known 
2 Mz;fs; kw;Wk; 3 rpWth;fs; Nrh;e;J xU Ntiyia 10 ehl;fspy; nra;J Kbg;gh;. 
mNj Ntiyia 3 Mz;fs; kw;Wk; 2 rpWth;fs; Nrh;e;J 8 ehl;fspy; nra;J Kbg;gh; 
vdpy; 2 Mz;fs; kw;Wk; 1 rpWth; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; Kbf;f 
KbAk;? 

a. 
1

12
2
ehl;fs;  b. 12 ehl;fs;   c. 

1
13

2
 ehl;fs;  

d. 13 ehl;fs;    e. tpil njhpatpy;iy 
 

87. The dimensions of a hall is 10 9 8m m m  . Find the cost of white washing the walls and 

ceiling at the rate of Rs. 8. 50 per 2
m  

a. Rs. 2,250  b. Rs. 3,320  c. Rs. 3,349 
d. Rs. 4,449  e. Answer not known 
xU $lj;jpd; msT 10kP  9kP  8kP vd;wthW cs;sJ. mf;$lj;jpd; Rth;fs; kw;Wk; 
Nkw;$iuf;F nts;isabf;f xU rJu kPl;lUf;F &. 8.50 tPjk; MFk; nkhj;j nryitf; 
fhz;f. 
a. &. 2,250  b. &. 3,320  c. &. 3,349 
d. &. 4,449  e. tpil njhpatpy;iy 
 

88. If the total surface area of a cube is 726 2
cm then find its volume. 

a. 627 3
cm   b. 276 3

cm   c. 1331 3
cm  

d. 3311 3
cm   e. Answer not known 

xU fdr;rJuj;jpd; nkhj;jg;gug;G 726 nrkP2 vdpy; mjd; fd msT  
a. 627 nrkP2  b. 276 nrkP2  c. 1331 nrkP2 
d. 3311 nrkP2  e. tpil njhpatpy;iy 
 

89. The compound interest as Rs. 3,000 for 3 years at 10% per annum Compounded 
annually is  
a. Rs. 900  b. Rs. 933  c. Rs. 963   
d. Rs. 993  e. Answer not known 
&. 3>000 f;F 10% Mz;L tl;b tPjj;jpy; 3 Mz;LfSf;F> Mz;Lf;nfhU Kiw tl;b 
fzf;fplg;gl;lhy; fpilf;Fk; $l;L tl;b 
a. &. 900  b. &. 933  c. &. 963   
d. &. 993  e. tpil njhpatpy;iy 
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90. The difference between simple interest and compound interest on Rs. 1,200 for one year 

at 10% per annum, reckoned half yearly is  
a. Rs. 2.50  b. Rs. 3.00  c. Rs. 3.75  
d. Rs. 4.00  e. Answer not known 
miuahz;bw;F xU Kiw tl;b fzf;fplg;gl;lhy; &. 1>200 f;F> Mz;L xd;Wf;F 10% 
tl;b tPjk; Xuhz;Lf;F> jdptl;bf;Fk; $l;Ltl;bf;Fk; cs;s tpj;jpahrk; 
a. &. 2.50  b. &.3.00  c. &. 3.75  
d. &. 4.00  e. tpil njhpatpy;iy 
 

91. Which among the following of interest yields an interest of Rs. 200 for the principal of 
Rs. 2, 000 for one year? 
a. 10%  b. 20%  c. 5%  d. 15%  e. Answer not known 
gpd;tUk; tl;b tPjj;jpy; vJ RS. 2>000 mrYf;F Xuhz;Lf;F Rs. 200 I jdp tl;bahff; 
nfhLf;ff; $bajhf ,Uf;Fk;? 
a. 10%  b. 20%  c. 5%  d. 15%  e. tpil njhpatpy;iy 
 

92. In Simple Interest, a sum of money amounts to Rs. 6,200 in 2 years and Rs. 6, 800 in 3 
years. Find the principal and rate of interest. 
a. Rs. 4,000, i = 15%  b. Rs. 5,000, i = 12%  c. Rs. 6,000, i = 10% 
d. Rs. 3,000, i = 20%  e. Answer not known 
xU njhif xU Fwpg;gpl;l jdptl;b tPjj;jpy; 2 Mz;Lfspy; Rs. 6>200 vdTk; 3 
Mz;Lfspy; Rs. 6>800 vdTk; cah;fpwJ vdpy; me;j njhifiaAk;> tl;b tPjj;ijAk; 
fhz;f. 
a. Rs. 4,000, i = 15%  b. Rs. 5,000, i = 12%  c. Rs. 6,000, i = 10% 
d. Rs. 3,000, i = 20%  e. tpil njhpatpy;iy 
 

93. The reciprocal ratio of 9 : 121 is 
a. 3 : 11 b. 6 : 22 c. 11 : 2 d. 121 : 9 e. Answer not known 
9 : 121 d; jiyfPopapd; tpfpjk; 
a. 3 : 11 b. 6 : 22 c. 11 : 2 d. 121 : 9 e. tpil njhpatpy;iy 
 

94. The ratio of the volumes of a cylinder a cone and a sphere if each has the same diameter 
same height is  
a. 1 : 2 : 3  b. 2 : 1 : 3   c. 1 : 3 : 2 
d. 3 : 1 : 2  e. Answer not known 
tpl;lk; kw;Wk; cauk; xNu khjphpahd cUis $k;G kw;Wk; Nfhsj;jpd; fd msTfspd; 
tpfpjk; 
a. 1 : 2 : 3  b. 2 : 1 : 3   c. 1 : 3 : 2 
d. 3 : 1 : 2  e. tpil njhpatpy;iy 
 

95. The product of two numbers is 432 and their LCM and HCF are 72 and 6 respectively. If 
one of the numbers is 24 then the other number is 
a. 16  b. 18  c. 22  d. 36  e. Answer not known 
,U vz;fspd; ngUf;fw;gyd; 432 kw;Wk; mitfspd; kP.rp.k. kw;Wk; kP.ngh.t. KiwNa 
72 kw;Wk; 6 MFk;. mt;ntz;fspy; xU vz; 24 vdpy; kw;nwhU vz; 
a. 16  b. 18  c. 22  d. 36  e. tpil njhpatpy;iy 
 

96. The LCM of two numbers is 6 times their HCF. If the HCF is 12, and one of the numbers 
is 36. Then the other number is 
a. 72   b. 36  c. 24  d. 12  e. Answer not known 
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,U vz;fspd; kP.ngh.k MdJ. me;j ,uz;L vz;fspd; kP.ngh.t. tpd; 6 klq;FfhFk;. 
kP.ngh.t. 12 kw;Wk; xU vz; 36 vdpy; kw;nwhU vz;.  
a. 72   b. 36  c. 24  d. 12  e. tpil njhpatpy;iy 
 

97. The greatest number that will divide 62, 78 and 109 leaving remainders 2, 3 and 4 
respectively. Find the HCF. 
a. 15  b. 16  c. 12  d. 13  e. Answer not known 
62> 78> 109 I tFj;J KiwNa 2> 3 kw;Wk; 4 kPjpfshff; nfhLf;Fk; kPg;ngU nghJf; 
fhuzp fhz;f. 
a. 15  b. 16  c. 12  d. 13  e. tpil njhpatpy;iy 
 

98. Find the ratio of the HCF and LMC of the numbers 18 and 30 
a. 1 : 18 b. 1 : 30 c. 18 : 30 d. 1 : 15 e. Answer not known 
18 kw;Wk; 30 Mfpa vz;fspd; kP.ng.f. kw;Wk; kP.rp.k tpd; tpfpjk; fhz;f. 
a. 1 : 18 b. 1 : 30 c. 18 : 30 d. 1 : 15 e. tpil njhpatpy;iy 
 

99. What percent of 850 metres is 225 metres? 
a. 26.49%   b. 26.48%    c. 26.47% 
d. 26.46%  e. Answer not known 
850 kPl;lhpy; 225 kPl;lh; vd;gJ vj;jid rjtPjk;? 
a. 26.49%   b. 26.48%    c. 26.47% 
d. 26.46%   e. tpil njhpatpy;iy 
 

100. Among the residents of a street, 65% speak Tamil, 52% speak Hindi, 40% speak 
Malayalam, 30% speak both Tamil and Malayalam. 32% speak both Tamil and Hindi, 
25% speak both Hindi and Malayalam. If percentage of residents who speak all three 
languages? 
a. 10%  b. 80%  c. 90%  d. 20% e. Answer not known 
xU njUtpy; trpg;gth;fspy; 65% Ngh; jkpOk;> 52%  Ngh; ,e;jpAk;> 40% Ngh; 
kiyahsKk; NgRfpwhh;fs;. 32% Ngh; jkpOk; ,e;jpAk;> 30% Ngh; jkpOk; kiyahsKk;> 
25% Ngh; ,e;jpAk;> kiyahsKk;> 10% ,k;%d;W nkhopfisj;jtpu kw;w nkhopfisAk; 
NgRfpwhh;fs; vdpy; %d;W nkhopfisAk; Ngrj; njhpe;jth;fs; vj;jid rjtPjk;? 
a. 10%  b. 80%  c. 90%  d. 20% e. tpil njhpatpy;iy 
 
 
 
 
 
 
 
 
 
 

 


